AP Ed.CET - 2017

CHEMISTRY (101-150)
SET-1I

101) When an electron revolves | a stationary orbit
QOER) &8 ?86é§§®6‘3 BBorHE R

1) No change in energy
8§ X8y oKD

2) In crase energy
38 0B

3) Attains stability
BTN FPoHKD
@

4) Does not gain Kinetic energy
3 182388 ol

102) The number of o and r bonds between two carbon atoms in Cac; is
Cac, Bo&d 96235 HBAPe0)H© éaéé S0G 0 HHBS™ T oTee éospé

1) Three ¢ bonds and no = bonds
Soee o ogren HBAH T 2opren 85

2) Two m bonds and no o bond
BO&Y T 2205Pen O 2.8 g 0L

3) Two o bonds and no = bond
B0 0 207ren B 2.8 T 0L

4) One 1 bonds and no o bond
2.8 TT 20850 0B a8 g 208

103) Number of unpaired electrons in CO molecule is
CO @9e0)K50& Ko 238878 @@@;5@ Sogy
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104)

105)

106)

1) Zero 2) One

Qo) 88
3) Two 4) Three
3ot oot

The existence of large number of organic compounds is because of
(STt éospgé‘s étﬁa)é ééa&éme» S0&8 Ko 5880

1) Un paired electrons of carbon
S g a3SrrEd QoS

2) Tendency of carbon to catenate
SES SBIAS (DY S

3) Hybradisation of carbon
Se8)0 o) H08688ea5m

4) None of the above
2D DO =

Aluminum bears a diagonal relationship with

@em?gc‘ib@oﬁao ........... &b ég Q0200550 DA ot
1)B 2) C
3) Si 4) Be

Boron compounds behave as lewis acids because of their
SPoeS Salytarer erard& edpere (HH80he Ko S*8emin

1) Acidic nature
CENVRSNVUEVLSY

2) Covalent nature
Bo@Bres Dok S NCUZNINN

3) Electron deficient character
QS E°8E Deassm
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107)

108)

109)

110)

4) lonising property
058G cﬁé&éﬁw

Which of the following compound is not used as fertilizer

P8 TR Lo S8 Do(FSoa5m

1) (NH4), SO, 2) H,N CONH,

3) CaSO, 4) Caz (PO,);

Bleaching action of CWorine is due to

S0 Too) AB0es BBEIED ..ovvevririiieiannnns Do
1) Oxidation 2) Reduction
e9&y88easin Eo0EBeasn

3) Hydrolysis 4) Decomposition
&@8)35&8@ EORECUIRIN WY

[Fe(CN)s(C0O)3~IUPAC name is
[Fe(CN)5(€C0O)3*~ &%) IUPAC mosoi.

1) Penta cyano carbonyl ferrate (1)
oér T RIS 2EE (1)

2) Carbonyl pentacyanido ferrrate (11)
SBHIE Doer IS 2B (1)

3) Penta cyano carbonyl Iron (I11)
D0EFPRT° HIS @8 (I11)

4) Carbonyl penta cyano Iron (1)
SRS oer R s (I1)

Gold can exhibit the oxidation states
DOMPEED (HEGoD Ko wyBsen JEbe

1)+1 & +2 2) +2 & +3
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111)

112)

113)

3) +1 &+3 4) +2 & +4

The colour of [(Ti (H2 0)6]3* is due to
[(Ti (H2 0)6]*" S Gw¥) EorhsH Ko s*8easin

1) Transfer of electron from one to another atom of titatnium
2.8 BerAcHo H8Erens) ol HEFEIS o8 Sed)&

2) Presence of water molecules
5B eendHen &oed

3) d-d transition
d-d HBEBHaw

4) Intermolecular vibration
@80 OB BN

Lanthanides form complex with
EPOPIDED wevvvninniiineinnnn. & ‘é&‘%&é@@ HBB K.

1) Chelating agents
E5B0R se8soen

2) Monoderitate ligands
INEEVECTST lote)

3) Bideritate ligands
B Brroten
4) Simple anions
JBes OIPRY

Which of the two have almostsimilar size
8od TAS® B8 ey 28 HOHTLHN G0kl

1) 227& 40%7 2) 41Nb& 73T
3) 39¥& 5T%@ 4) 20¢4& 77"
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114) The process of removing gangue particles by washing in a current of
water is called
DB Haesesns® mron Bero HEH5m BSn Jeedsm.

1) Levigation 2) Liquation
SRIHE OERS

3) Leachign 4) Cupellation
Odoh oBHVBNS

115) Slag is a product of

B0 OKOBE .. @o¥), &

1) Fluex and coke 2) Coke and metal oxide
(B355°8 oBasH &8 58 oo SregE

3) Flux and Impurities 4) Metal and flux

£)Ds°0 Kbk HTegen S 5r80%n (55578

116) Primary valency denotes
(PWE S Breasdohe BenHS.

1) Oxidation number 2) Number of ligands
e—sé?bééea K03 8rrog Sogy

3) Co-ordination numbers 4) Effective atomic numbers
SEISNeW Qo3 (578 HBSe Q03

117) ITUPAC name of the compound K3 [Fe(CN)g] is K3 [‘e(CN)s] K3 (Fe(CN)g
K3 [Fe(CN)] e Saky#dsin @) IUPAC aesosim

1) Potassium ferrowanide 2) Potassium ferricyanible
rerd000 DEDIE grerQoHo PODIE

3) Potassium hexacyano ferrate (1)

SPeracn0 3EEN RS (B (1)

4) Potassium hexacyano ferrate (111)

SPerRc0 3PS RS HEE (1)
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118) The number of Isomers possible for square planar complex K [pdclBr;
(SCN)] is K, [pdcIBrz (SCN)]  $sode Saln¥skns® gha

ODBETHZE éoapag.

1)6 2)2
3)5 4) 4

119) Which of the following does not show tautomerison?
8od TS DB ErerSrdR5w (505e.

1) CsHs COCHg 2) CH; CHO
3) CH3; CO CHgs 4) C¢HsCOC (CHs)s

120) The two isomers given below are
(Bo& 2388 Both endrdsTen

COOH COOH
H ——OH & H —1—OH
HO ——H H —t———OH
COOH COOH
1) Enantiomers 2) Diastereomers
QBB en G ASPRB T
3) Mesomers 4) Homers
OBl SBRP0B

121) In H,C=CH-Br Bromine gas low reactivity because
H,C = CH-Br o0& (5085 BEND iﬁc'g%@ééa Ho 58550

1) —m effect of Bromine
(B0 RBooE), —M (HPH330

2) More electro negativity of Bromine
B8 ToE) @S Q0Ea G HEE

3) Partial double bond character between C-Br bond
C-Br ¢8y 20085508 aPgEaI008 $35e8sin

4) +m effect of Bromine
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(S D0E), +M ([HerDsm

122) Which of the following is strongest acid.
Bod TBS® D& w0l BoRY wiHw

1) Acetic acid 2) Chloro acetic acid
@BE epSm E8° BE ein
3) Dichloro Acetic Acid 4) Trichlroacetic acid
35°5° 0B whsn 188°8° @8 eHsm
123) In the reaction O O
[
(i) X H; C- C - CHs
H;C-C= C-CH; (ii)) H,O/zn where ‘X’ is
O O
[
(I) X H; C- C - CH;
Hs;C-C= C-CH;  (ii) H,0O/zn I '25656’58 X’ I8,
1) HNO; 2) O,
3) O3 4) KMnO4

124) The IUPAC name of A s
N 6 o IUPAC i

1)  3-ethyl -4, 4 — dimethyl hyptane
3-585-4, 4- BWZS I” RS

2) 1, 1- Diethyl -2, 2- dimethyl heptanes
1, 1- 3u3S -2, 2-GZS 3°QS

3)  2-chloro butane
4, 4-80xS -5, 5-8 23S 2088
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4) 5, 5- Diethyl -4, 4- dimethyl pentane
5, 5- @ 885 -4, 4- ZFS o8BS

125) Which of the following bonds is more acidic
8od 2oFmes® D whHE 9580 EOAOK.

H H H H
| |
1)H-C=C-H 2)H-C-C-H
|
H H
H
|
3) CH;—CH,~-C=C—H 4)CH;—C =C-C—-H
|

H

126) Aniline on acetylation followed by bromination and subsequent
hydrolysis gives.
@DSHH VBTAS BL SHH0 (FPWINS HoB» Soxd

&@8)38@&63326 aﬁ)a?é&.

1) m-Bromo Aniline 2) O. Bromoaniline
-2 0% O (53 02O
3) p-bromoaniline 4) 2 & 3 both
p-5°3 00K 2 & 3 Bok

127) Benzene reacts with n-propyl ehloride in ten presence of Anhydrous Alcl;
to give predominant compound.
BoSSK0 @aoo@g Alclz50850e® (£508 858 B85 LOHIY)

BEedore B SSnFdsw.

1) n-propyl benzene 2) Isopropylbenzene
N-grS Bods B S Bodd
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3) 3-Propyl chlorobenzene 4) Chlorobenzene
3-@S 6t Bof £%8° Bodo

128) Which of the following is not having aromatic character
Bobd T&E® HB 68’ KErBIErae) SONTK.

" Y )

129) When RCOCL and Alcls one used in fried crafts reaction the electrophile
IS
DS PEFIPETS EoB @HE @B EOA Ho..... Hob

1) RCOCL 2) RCO
3) R®)
4) None of the above

130) Ethylene reacts with Bayer’s reagent to give.
BoHE) SPEEENE 1d IS SEToh BY)FL.

1) Ethylene Glycol 2) Ethyl alcohol
2098 B°s 935 we)sPen
3) Ethane 4) Acetylene
) 028D

131) The cyano hydrine of acompound ‘x’ on hydrolysis gives lactic Acid.
Then ‘X’ is
O SIPFSED D), RS TEESD o HZHe ™HoDS <88
952300 BT, YD X’ DOI6
1) HCHO 2) CH3-CO-CH;s

3) CH; CHO 4) CH3-CO-CHO
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132)

133)

134)

Iso cyaride test is used for the detection of

ORFRIED VOB oo, £ BB GOBRA0THEIE.
1) Primary Alcohol 2) Primary amines

(EPEDE ee)ssen (PHNE DS

3) Secondary Amine 4) Secondary alcohol

BB ©OFS BB @epssten

The major organic compound formed in is ten following reaction
Bob S8 @HES0T DB BE)IOIFS50

O Q) CH-NHy
/uw/ , ;7
Q) Lty
WALINY
AH b2
1) 2)
ek of

3) /]\( 4) H
NHCHZ

Predict ten correct order of reactivity of ten following compounds
Bobd Jqp¥Fre D) SO Soesdod (B850 HBoSR.

1) Benzee > Pyrrole > thiophene > Furan
BoLd > PE’S > Hroes > S

2) Benzene > Thiophene > Furan > Pyrrole
BoE > FIEHS > Froek > JES

3) Pyrrole > Furan > Thipohene > Benzene
BES > Fogors > FTeHK > Bod

4) Benzene > Furan > Thipohene > Pyrrol

:
gcollegedunlaﬁ
India’s largest Student Review Platfort m



135)

136)

137)

138)

Bodd > oo > FREHS > D(G5en

Tollens test is given by
&°8S) HOEL BY)¥6.

1) All can bohydrates 2) Non-reducing sugars
RF S IAR s Bowe BBODHR HEBen
3) Reducing sugars 4) Polysaccharides
gonsdes $8Be O BPOLDD

The enzyme that is used to conreof sucrose into glucose and fructose
Kr(E°E S008 Kp8'E b (KEE MBS $SEE° ¢d@PoL JoFH &

1) Gymase 2) Investase
B a5BE
3) nfhspx 4) Amidase
ODE oML

Carbohydrates are
BN PG @[

1) Poly hydroxyl Acids 2) Poly hydroxyl Amines
FOreed) o O Treed) oPpoen
3) Poly hydroxyl Aldehydes or ketones

0 rEd) wdzre S 8ten

4) Di or tri hydroxyl alchudes or ketones
2 T (B e edirde S 8t

At ten iso electric point aminoacids have
D DgS @5265633 0 efren - @0k

1) High mobility 2) High electric conductivity
HE I 0HE DBRS LS
3) High solubility 4) Equal Acid-base ionization
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139)

140)

141)

142)

©OE [PSBADS 95 -5°8 cHdESen HrHHw

According to ten simple kinetic theory PV is equal to

©°<‘>63°26§ N&E ?0&5(;0@"2633"65&) PV @036 ........ B DAed0.
1) 1/3 mnv? 2) 1/2 mnv?
3) 3/2 mv? 4) 1/2 mv?

The Jonle — Thomason expansion of an ideal gas
2.8 &i5Y) ANy BoE) S Y 55°§§S£52633

1) An isobaric process 2) An Isothermal process
2.8 $50HES (H8H 8 B3 (DB

3) An Isoenthalpic process 4) None

a8 J aoqsoe‘)o)@@oﬁa DBz

With in crease in temperature the fludility of liquids
GEPIE 0T BQ (5550 0¥, (55w

1) Decease
BrHo

2) Increase
B0

3) Remain constant
?(\Daéom €600

4) May increase or decrease
ESlslatinvy S LIabNIN)

lonic solids are characterized by -
0% OB BHweTren - oFero& HBIPD

1) Good conductivity in solid state
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I ‘z’gé’éeSs DOQTTES0

2) High vapour pressure
©OY FRRGREIIW

3) Low melting point
WO BLFHD agézﬁn

4) Solubility in pilarsolvents
5B (IR EDD

143) In cscl structure, each cs™ ion is surrounded by

cscl S@&aaéw@‘s, 98 St OASRS ............ 5 &8 Hoto.
1) 4 clions 2) 6 clions
4 cl ecSrSen 6 ¢l edSrSen
3) 8 clions 4) 12 clions
8 ¢l ©asrSen 12 ¢l ©osrSen

144) Schottky defect causes
), S"Hsm Ko Seordiss

1) Increase in ten density of solid
IR NI SRS Do) PO(EE BIHK

2) Decrease in ten density of solids
PoKHTG a5 ToE) oS B

3) No change is ten density of solids
PoKHTG a5 R, FoBES® SrENTE

4) Decrease in ten conductivity of solids
@éémgzﬁw ToE) TTES B
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145) Which of ten following solution will have the lowest vapour pressure
Bod ([rSerod® B8 wdieEraHEstn GotHd .

1) 0.1m glucose 2) 0.1m Nacl
0.1 3. Kpser 0.1 3. Nacl
3) 0.1m Bacl, 4) 0.1 m Al; (S04)3
0.1 So. BaClz 0.1 Sow. A|2 (504)3

146) IN ten electro osmosis
DBE (BEI8es®

1) Particles move but liquidrests
Begren B 500 (35830 Jode 6ot

2) Liquid moves and particle rest
(555500 Bedoeno B Begren JOBEMP GOLID

3) Only pontictes move
Legeen SoBRD Eendd

4) None of ten above
IO 500

147) in Brownian movement, the path followed by particle is
(BPR0HS Sod50s?, Seadn ek NISICINE e RT W

1) Linear
B

2) Zig-zag
S(BX7B50

3) Cirular
QEos°8

4) Curved
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H0%y B

148) Which of ten following aqueous solution has ten low boiling point.
PGS (Hreasn GEEHNE Dol SyBol@snor ¢otkey

1) 0.01 m Nacl 2) 0.02m Hcl
0.01 3. Nacl 0.02 3. Hcl
3) 0.15m C,HsOH 4) 0.005m KBr
0.15 3». C,HsOH 0.005 & KBr

149) it ten rate for ten chemical reaction is expressed as rate = K [A] [B]" then
BIP0HAE $Bg Bood), Sy K [A] [B]" & 3883

1) Order of reaction is one
BEER0E), (B a8

2) Order of reaction is ‘n’
BEER0E), (s ‘n’

3) Order of reaction is ‘1+n’
BEER0E), (X ‘140’

4) Order of reaction is ‘1-n’
BEER0E), (X ‘1-n’

150) Thermodynamics is concerned with
é&%ﬁé’éé BOQID0 wevvvrrnnnnnn 8 302005038

1) Total energy of a system
HgR0H0E) g ¥8

2) Energy changes in a system
HgRH0E) 8 3508y

3) Rate of a chemical change
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BRCHVE Frtin @) S0

4) Mass changes in nuclear reactions
o8 756506‘3 (B550°8 558
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